

*

1, 1, 2

e-mail: aniftiyev@yahoo.com, elnure_sh@mail.ru

: , fuzzy , fuzzy ,

AMS Subject Classification: 34B99, 03B52, 46F10.

1.

, , ..

, , [1] .

$$\frac{dA}{dt} = fA(t) + I(t) + mU(t - t_0),$$

f - , *A(t)* - , *I(t)* -

, *r* - , *a* -

[1].

* 05.11.2013.

2.

X , $\sim_A(x)$ X
 A [3,4,6] $[0,1]$.
 $A = \{(x, \sim_A(x)) : x \in X\}$.
 X , $\sim_A(x)$ -
 x , A .
 $S_A = \{x \in X : \sim_A(x) > 0\}$
 S_A A .
 $r \in [0,1]$
 $A^r = \{x \in X : \sim_A(x) \geq r\}$,
 A^r r - A .
 $X \subset R$ A [3,4,6],
 $r \in [0,1]$, r - A^r
 $\sup_{x \in X} \sim_A(x) = 1$.
 F .
 $a \in F$ r - a
[4,5,7]
 $a^r = [L_a(r), R_a(r)]$, $r \in [0,1]$.
 $a, b \in F$ $a+b$:
 $(a+b)^r = [L_a(r) + L_b(r), R_a(r) + R_b(r)]$, $r \in [0,1]$.
:
 $(k \cdot a)^r = [kL_a(r), kR_a(r)]$, $k \geq 0$.
 (a, b) , $a, b \in F$. [4,5]

$$(a_1, a_2) + (b_1, b_2) = (a_1 + a_2, b_1 + b_2),$$

$$k \cdot (a, b) = (ka, kb), \quad k \geq 0,$$

$$(-1) \cdot (a, b) = (b, a).$$

$$(a_1, a_2) \approx (b_1, b_2) \Leftrightarrow a_1 + b_2 = a_2 + b_1.$$

$$, \quad F \times F$$

$$(0, 0) \dots$$

$$(a, a) \dots$$

$$x = (a, b),$$

$$-x = (b, a).$$

$$a = (a_1, a_2), \quad b = (b_1, b_2), \quad a_i, b_i \in F, i = 1, 2, \dots,$$

$$a_i^\Gamma = [L_{a_i}(\Gamma), R_{a_i}(\Gamma)],$$

$$b_i^\Gamma = [L_{b_i}(\Gamma), R_{b_i}(\Gamma)], \Gamma \in [0, 1]$$

$$, \quad a, b \in F \times F$$

$$a \circ b = \frac{1}{2} \int_0^1 [(L_{a_1}(\Gamma) - L_{a_2}(\Gamma))(L_{b_1}(\Gamma) - L_{b_2}(\Gamma)) +$$

$$+ (R_{a_1}(\Gamma) - R_{a_2}(\Gamma))(R_{b_1}(\Gamma) - R_{b_2}(\Gamma))] d\Gamma.$$

$$, \quad (a, b)$$

$$F \times F$$

$$\|a\|_{FL_2}^2 = \frac{1}{2} \int_0^1 [(L_{a_1}(\Gamma) - L_{a_2}(\Gamma))^2 + (R_{a_1}(\Gamma) - R_{a_2}(\Gamma))^2] d\Gamma.$$

$$F \times F$$

$$a \circ b$$

FL_2 .

$$f(t).$$

$$t \in [t_0, t_1], \quad f(t) \in F \quad \Gamma -$$

$$f_\Gamma(t) = [L_{f(t)}(\Gamma), R_{f(t)}(\Gamma)], \quad \Gamma \in [0, 1].$$

$$\lim_{\Delta t \rightarrow 0} \frac{(f(t + \Delta t), 0) - (f(t), 0)}{\Delta t} = (\{f(t), \mathbb{E}(t)\},$$

$$(\{ (t), \mathbb{E}(t) \} \in F \times F \quad f(t)$$

$$t \in (t_0, t_1) \text{ ([4,5])}. \quad \Gamma -$$

$$\lim_{\Delta t \rightarrow 0} \frac{(f_r(t + \Delta t), 0) - (f_r(t), 0)}{\Delta t} = (\{ \Gamma(t), \mathbb{E}_r(t) \},$$

$$\{ \Gamma(t), \mathbb{E}_r(t) \} \quad \Gamma - \quad \{ (t), \mathbb{E}(t) \}.$$

$$f(t) \quad , \quad (f(t), 0) \in F \times F.$$

$$(f_1(t) \pm f_2(t))' = f_1'(t) \pm f_2'(t).$$

$$f(t) = (f_1(t), f_2(t)) \in F \times F, \quad \forall t \in (t_0, t_1).$$

$$f(t) = (f_1(t), 0) + (0, f_2(t)) = (f_1(t), 0) - (f_2(t), 0).$$

$$f(t) \in F \times F$$

[4,5] , « »

$$\int_{t_0}^T f'(t) \circ g(t) dt = f(T) \circ g(T) / T - \int_{t_0}^T f(t) \circ g'(t) dt, \quad \forall t, T \in (t_0, t_1).$$

$$f(t), g(t) \in F \times F, \quad \forall t \in (t_0, t_1) \quad f(t), g(t)$$

$$(t_0, t_1).$$

$$u(x) - ()$$

$$u(t - t_0) = \begin{cases} 0, & t \neq t_0 \\ +\infty, & t = t_0. \end{cases}$$

$$t = 0,$$

$$t = 0,$$

1. , -

$$u(t) = u'(t),$$

$$u(t-t_0) = \begin{cases} 1, & t \geq t_0 \\ 0, & t < t_0. \end{cases}$$

$$u(t) = \int_{-\infty}^t u(s) ds.$$

3.

$$x'(t) = a(t)x(t) + f(t) + mu(t-t_0), \quad t \in [0, T], \quad (1)$$

$$x(0) = x_0. \quad (2)$$

$x(t) \in C^1(0, T)$, $u(t) \in C^1(0, T)$, $m > 0$, $t_0 > 0$

$\{ \in C^1(0, 1)$

$$x(t) - x_0 = \int_0^t x'(\xi) d\xi + \int_0^t [a(\xi)x(\xi) + f(\xi)] d\xi + \int_0^t m u(\xi - t_0) d\xi, \quad t \in [0, T]. \quad (3)$$

$$x(t) = x_0 + \int_0^t [a(z)x(z) + f(z)] dz + \int_0^t m du(z - t_0), \quad t \in [0, T] \quad (1), (2).$$

$$x(t) = x_0 + \int_0^t [a(z)x(z) + f(z)] dz + \int_0^t m du(z - t_0), \quad (1), (2).$$

[2,3].

x_0 , $f(t)$, $x(t)$, $(1), (2)$, (1) , $(1), (2)$, $y = y(t)$, $(1), (2)$.

$$y'(t) = a(t)y(t) + mU(t - t_0), \quad t > 0, \quad (4)$$

$$y(0) = 0. \quad (5)$$

(4)

$$(3), \dots \quad \{ \in C^1(0,1)$$

$$y(t) \{ (t) = \int_0^t y(\tau) \{ '(\tau) d\tau + \int_0^t a(\tau)y(\tau) \} (\tau) d\tau + m \int_0^t u(\tau - t_0) \{ (\tau) d\tau \quad (6)$$

$$z = z(t)$$

$$z'(t) = a(t)z(t) + f(t), \quad t > 0, \quad (7)$$

$$z(0) = x_0. \quad (8)$$

$$x_0 \quad f(t) \quad , \quad (7), (8) \quad z(t) \quad , \dots$$

(7)

$$z'(t) \quad , \dots \quad z'(t) = (\bar{z}_1(t), \bar{z}_2(t)),$$

$$\bar{z}_1(t) \in F, \bar{z}_2(t) \in F, \quad \forall t \geq 0. \quad , \quad a(t) = a_1(t) - a_2(t),$$

$$a_1(t) \geq 0, a_2(t) \geq 0, \quad (1)$$

$$(\bar{z}_1(t), \bar{z}_2(t)) = a_1(t)(z(t), 0) + a_2(t)(0, z(t)) + (f(t), 0).$$

$$\bar{z}_1(t) + a_2(t)z(t) = \bar{z}_2(t) + a_1(t)z(t) + f(t).$$

(4) (7),

$$y'(t) + z'(t) = a(t)(y(t) + z(t)) + f(t) + mU(t - t_0).$$

(5) (8)

$$y(0) + z(0) = x_0.$$

$$(1), (2) \quad x(t) = y(t) + z(t),$$

$$y = y(t) \quad (4), (5), \quad z = z(t)$$

$$(7), (8). \quad , \quad x = x(t)$$

$$(1), (2), \quad ,$$

$$x_0 \quad f(t) \quad , \quad [1]$$

$$y(t) = y_0 \exp\left(\int_0^t a(\tau) d\tau\right) + \int_0^t \exp\left(\int_s^t a(\tau) ds\right) u(s - t_0) ds.$$

$$a(t) = a = const \neq 0,$$

$$y(t) = \left(y_0 + \frac{m_n(t-1)}{a} \right) e^{at} + m_n(t-1)e^{a(t-t_0)}. \quad (9)$$

$$y(t) = \int_0^t \exp\left(\int_s^t a(\tau) ds \right) u(s-t_0) ds.$$

$$a(t) = a = \text{const} \neq 0$$

$$y(t) = \frac{m_n(t-1)}{a} e^{at} + m_n(t-1)e^{a(t-t_0)}.$$

$$f_r(t) = [L_{f(t)}(r), R_{f(t)}(r)],$$

$$x_0^r = [L_{x_0}(r), R_{x_0}(r)].$$

$$L_{z(t)}(r) = \exp\left(\int_0^t a(\tau) d\tau \right) L_{x_0}(r) + \int_0^t \exp\left(\int_s^t a(\tau) d\tau \right) L_{f(s)}(r) ds, \quad (10)$$

$$R_{z(t)}(r) = \exp\left(\int_0^t a(\tau) d\tau \right) R_{x_0}(r) + \int_0^t \exp\left(\int_s^t a(\tau) d\tau \right) R_{f(s)}(r) ds. \quad (11)$$

$$z(t) \text{ r -}$$

$$(10), (11), \dots$$

$$z(t) = [L_{z(t)}(r), R_{z(t)}(r)].$$

[14],

$$(7), (8), \quad z(t) \text{ (1), (2)}$$

$$x(t) = [L_{x(t)}(r), R_{x(t)}(r)],$$

$$\begin{aligned} L_{x(t)}(r) &= L_{z(t)}(r) + y(t) \\ R_{x(t)}(r) &= R_{z(t)}(r) + y(t) \end{aligned} \quad (12)$$

$$(12)$$

$$a \quad x_0$$

$$x(t) -$$

$$\begin{aligned} \frac{dx(t)}{dt} &= x(t) + bt + u(t-1), \quad t > 0, \\ x(0) &= x_0. \\ a(t) &= 1, \quad m=1, \quad f(t) = bt, \quad t_0 = 1. \end{aligned} \tag{9}$$

$$\begin{aligned} y(t) &= {}_n(t-1)e^t + {}_n(t-1)e^{t-1}. \\ z &= z(t). \\ z(t) &= \exp(t-1)x_0 + b \int_0^t s \cdot \exp(t-s) ds = \\ &= \exp(t-1)x_0 - b \cdot s \cdot \exp(t-s) \Big|_0^t + b \int_0^t \exp(t-s) ds = \\ &= \exp(t-1)x_0 + [\exp(t) - t - 1] \cdot b. \end{aligned} \tag{10}$$

$$x(t) = e^{t-1}x_0 + [e^t - t - 1] \cdot b + {}_n(t-1)e^{t-1} + {}_n(t-1)e^t$$

[6],

1. , 2010, 80 .
2. , 1988, 185 c.
3. , 1971, 512 .
4. Niftiyev A.A., Poormanoochehri M., Zeynalov C.I. Fuzzy optimal control problem with non-linear functional, International Journal Fuzzy Information and Engineering, 3, 2011, pp.311-320.
5. Aliev F.A., Niftiyev A.A., Zeynalov C.I. Optimal synthesis problem for the fuzzy systems in semi-infinite interval, Appl. Comput. Math, Vol.10, No.1, 2011, pp.97-105.
6. Aliev R.A. Modelling and stability analysis in fuzzy economics, Appl. Comput. Math., Vol.7, No.1, 2008, pp.31-53.
7. Filev, D., Angelov, P., Fuzzy optimal control, Fuzzy Sets and Systems, 47, 1992, pp.151-156.

